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QUESTION 1

Which of the following statements is false? 

A. The Contract Centralization pattern positions the service contract as the official entry point into the service logic. 

B. The Contract Centralization pattern can impose performance overhead and requires the use of design standards. 

C. The application of the Contract Centralization pattern enables access to underlying service resources through the
use of secondary or unofficial technical contracts. 

D. The Decoupled Contract pattern supports the application of the Contract Centralization pattern. 

Correct Answer: C 

 

QUESTION 2

The Protocol Bridging and Data Model Transformation patterns can be applied together to the same message or data
exchange. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

The State Repository pattern is one of the core patterns that comprise the Enterprise Service Bus pattern because
complex compositions often include long periods of inactivity while waiting for composed services to complete their
processing, thereby providing an opportunity to defer state from memory to a state repository. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

In order to realize the failover support provided by the application of the Redundant Implementation pattern, the
Intermediate Routing pattern also needs to be applied so that services can be load balanced. 

A. True 

B. False 

Correct Answer: B 
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QUESTION 5

Which of the following statements is true? 

A. The application of the Legacy Wrapper pattern results in the coupling of the service consumer to the legacy
resources encapsulated by the service. 

B. The application of the Legacy Wrapper pattern results in the coupling of the service contract to the legacy resources
encapsulated by the service. 

C. The application of the Legacy Wrapper pattern supports the Contract Centralization pattern by helping to establish a
standardized contract through which to access legacy resources. 

D. None of these statements are true. 

Correct Answer: C 

 

QUESTION 6

The Reliable Messaging pattern requires: 

A. the use of standardized service contracts in order to enable message atomic transaction details to be carried in the
message header 

B. a framework for temporarily persisting messages and issuing acknowledgements 

C. the application of the Official Endpoint pattern in order to enable acknowledgement features 

D. a framework capable of bridging disparate messaging protocols in order to exchange schemas between compatible
services 

Correct Answer: B 

 

QUESTION 7

Based on the publisher and subscriber roles established by the application of the Event- Driven Messaging pattern,
which of the following statements are true? 

A. a service, acting as a publisher, issues event notification messages to an event management program that is
responsible for broadcasting the messages 

B. a service consumer, acting as a subscriber, can selectively subscribe to specific events 

C. an intermediate event management program enters the role of subscriber when accepting event subscriptions 

D. upon receiving a message associated with an event that a service consumer subscribed to, the service consumer
enters the publisher role 

Correct Answer: AB 
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QUESTION 8

A service fa?ade component can be used to abstract the part of a service architecture that has negative coupling
potential. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 9

Even though atomic service transactions can be used to ensure that all services within the transaction either succeed or
fail, in larger transactions involving multiple services, the amount of required memory consumption can . 

A. add up and reduce overall service scalability 

B. be minimized through the use of service agents 

C. be deferred to a compensating service transaction 

D. None of the above. 

Correct Answer: A 

 

QUESTION 10

Business process logic is abstracted and physically centralized as part of a platform that supports long-running service
activities via the use of a database that can temporarily store state data during periods of inactivity. Which of the
following compound patterns provides the range of features required to support these requirements? 

A. Enterprise Service Bus 

B. Service Broker 

C. Orchestration 

D. Official Endpoint 

Correct Answer: C 

 

QUESTION 11

The service model most associated with the Process Abstraction and Orchestration patterns in general is: 

A. entity service 

B. utility service 

C. wrapper service 
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D. None of the above. 

Correct Answer: D 

 

QUESTION 12

A service architecture is most comparable in scope to a traditional: 

A. component architecture 

B. integration architecture 

C. application architecture 

D. None of the above. 

Correct Answer: A 

 

QUESTION 13

A service agent has a technical contract that allows it to be explicitly invoked by service consumer programs. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 14

When applying the Asynchronous Queuing pattern you aim to establish an environment in which: 

A. an intermediate buffer exists between a service and its service consumer 

B. temporary message storage is provided in case either the service or service consumer are unavailable 

C. periodic re-transmission of a message is supported until it is successfully delivered 

D. enforcement of consistent, uninterrupted, synchronous communication between service and service consumer are
guaranteed 

Correct Answer: ABC 

 

QUESTION 15

Which of the following is a common problem associated with the application of the Policy Centralization pattern? 

A. Changes to a shared policy definition can affect all services that rely upon it, which in turn, can affect all service
consumers that have formed dependencies on the corresponding service contracts. 

S90.08 Study Guide | S90.08 Exam Questions | S90.08 Braindumps                                5 / 6

https://www.leads4pass.com/s90-08.html
https://www.leads4pass.com/s90-08.html
https://www.leads4pass.com/s90-08.html


https://www.leads4pass.com/s90-08.html
2024 Latest leads4pass S90.08 PDF and VCE dumps Download

B. Changes to a shared data model can affect all services that rely upon it, which in turn, can affect all service
consumers that have formed dependencies on the corresponding service contracts. 

C. Changes to a shared database can affect all services that rely upon it, which in turn, can affect all service consumers
that have formed dependencies on the corresponding service contracts. 

D. None of the above. 

Correct Answer: A 
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